
N = 217

217 circles in a 1x0.70000 rectangle

radius =   0.029399637952
ratio  =  23.809817016604

density  = 0.841774045565
contacts = 451

 E.SPECHT
11-AUG-2010

N = 218

218 circles in a 1x0.70000 rectangle

radius =   0.029328798743
ratio  =  23.867325973012

density  = 0.841582850664
contacts = 353

 E.SPECHT
15-AUG-2010

N = 219

219 circles in a 1x0.70000 rectangle

radius =   0.029262205268
ratio  =  23.921642049469

density  = 0.841608382518
contacts = 362

 E.SPECHT
15-AUG-2010

N = 220

220 circles in a 1x0.70000 rectangle

radius =   0.029239428478
ratio  =  23.940276415903

density  = 0.844135709342
contacts = 426

 E.SPECHT
12-AUG-2010

N = 221

221 circles in a 1x0.70000 rectangle

radius =   0.029212730458
ratio  =  23.962155848911

density  = 0.846424858209
contacts = 391

 E.SPECHT
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N = 222

222 circles in a 1x0.70000 rectangle

radius =   0.029212078950
ratio  =  23.962690269334

density  = 0.850216910279
contacts = 73

 E.SPECHT
15-AUG-2010


